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[2] 3ab +6bc — 12bd

= 4mn(m — 2n) = 3b(a +2c —4d)

8] x°2 —8x + 72 4 mzazoer: | (4 g2 —4q 44

= (x —2)(x—06) = (a —2)°

5 g’ —25y° A remvcem<ri | (6] [6q” —24ab +9b°

= (2x)" = (35)°
= (2x +5y)(2x —35y)
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= 4% —24B +B’
= (4—B)°
= (4a —3b)°
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8) 27xy” — 18xy + 3x

=yx —1)+x—1)
x —1=4A ¢£FH<

= yA +A4
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9 q° +6a+9 —9b°

= (@+3)°—9b°

= (a+3)°—(3b)°

= (a+3+3b)(a+3—3b)

= 3x(9° —6y+1)
= 3y=4A ¢5<

= 3x(4°—24+1)
= 3x(4—1)°

= 3x(3y—1)°

10) (@ +b)° +2(a +b) +1
at+tb=4 £5<

= A°+24+1

= (A+1)°

= (@a+b+1)°
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[1] 5 Y —xyz —xy {xy fa;;ﬁxﬂzr@h] 2] x* — 64 ﬁ%ﬁ mrff.]

= xy’(x —z—1) = (x +8)(x —8)
31 p2 4+ 2p —3 4 x? +6x +9
= (b+3)b—1) = (x+3)°

51 3652 —25y7 A emecsmiert | 1618147 + 36ab +4b°

= (6x)° —(5))° 9a=A4,2h=B & & <
= (6x +5y)(6x —5y ) = 4’ +24B +B’
= (A+B)°
= (9a +2b)>
Nb+e)’—(b+c)—12 8 (@ —3b)° —25b°
bte=4 £ < a—3b=4 £ &<
= A°—4—12 = A° —(5b)°
= (4+3)(4 —4) = (4 +5b)(4 — 5b)
= (b+c+3)(b+c—4) = {(a —3b) +5b}{(a —3b) —5b}

= (a +2b)(a —8b)

9 xy —2p+2x —4 1 EEs Tt 00 12ah” —3ac’

=yx —2) +2(x —2) = 3a(4b” —c°)
x —2=4 £H< = 3q{(2b)° —c*}
= 34 +24 = 3a(2b +¢)(2b —¢)
= AWy +2)
= (x—2)(y T2)
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= 3a(2b —1)
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= (x—])2

5] 9a° — 9a — 4
3a=A £H<

= A’ —34—4

= (A —4)(A+1)

= (3a —4)(B3a +1)
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= A7 —74+10

= (4—2)(4—35)

= (x+y—2)(x+ty—35)
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_ A2 _Bz
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2) 3% y°z —9x° yz + 6xy
= 3xp(x 2yz —3xz +2)

4 p? +9p +20
= (b+4)(b +5)

(6] 8]x2 —yZ { T2R0< 2 %) rwr!]
= (9x)7 —y°
= (9% Ty)(9x —y)

8] —28x° —84xy —63y°
= —7@x°+12y+97)
= 2x=A4, 3y=B £ H<

= —7(4° +24B +B°)
= —7(4A+B)°

= —7(2x+3y)°

[10] p2 ¢ — 7be +12¢
= (b’ —7b+12)
= ¢(b —3)(b —4)
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